BK S:t Erik
Guld IAF 2017-05-13

IMP over faltet, 21 bord, 42 par. Antal brickor: 57.

Plac Par Poang Namn MID Klubb
1 33 1527 Krister Ahlesved - Marion Michielsen 13995 53103 Uppsalabridgen - Harplinge BK
2 38 1284 Olle Wademark - Daniel Eriksson 14800 24659 Norrorts Bridge - Gavle BK
3 16 1111 Ben Hayes - Karlis Rubins 6654 N126 BK S:t Erik - Lettland
4 31 1094 Peter Carlsson - Marten Gustawsson 11594 8699 BK S:tErik
5 39 1084 Lars Ericson - Mats Sjoberg 12536 1198  Gavle BK - Filbyter Bridge
6 13 999 Daniel Sivelind - Erik Fryklund 12589 80722 LudvikaBygdens BK
7 12 995 Michael Lemborn - Ylva Strandberg 1215 9217 Karlstads BK - BK S:t Erik
8 17 920 Tommy Bergdahl - Jonas Petersson 2181 2059  Uppsalabridgen
9 26 721 Gunnar Andersson - Johan Safsten 18507 35452 BK ALERT - Uppsalabridgen
10 29 656 Peter Gornandt - Henrik Wegnelius 9039 2050 BK ALERT - BK S:t Erik
11 7 518 Mikael Gronkvist - Ida Gronkvist 85230 31083 Norrorts Bridge - Filbyter Bridge
12 27 397 Magnus Arve - Anders d”Aquino 40423 21174 BK S:tErik
13 2 304 Maria Gronkvist - Catharina Ahlesved 1076 7124  Orebridgen
14 40 291 Fredrik Wahlberg - Markus Bertheau 20396 57666 BK S:tErik
15 25 279 Adam Stokka - Simon Hult 30515 36107 BK S:t Erik - Filbyter Bridge
16 9 192 Niclas Ornerdal - Per Séderberg 13085 18380 Norrkopingsbridgen - Arla BK
17 23 126 Jesper Rundin - UIf Lundgren 80778 12024 Borléange BK - Tyrest BK
18 41 71 Matias Rohrberg - Johan Upmark 52703 24498 Filbyter Bridge - BK S:t Erik
19 8 28 Daniel Gullberg - Tomas Ekholm 37167 81508 Uppsalabridgen - BK S:t Erik
20 42 -17 Lars Nilsson - Magnus Lindkvist 43950 1831 BK S:tErik
21 24 -102 Fredrik Nystrom - Yvonne Wiseman 18356 60233 BK S:t Erik
22 19 -113 UllaBritt Goldberg - Lars Goldberg 12649 9298 BK S:t Erik
23 30 -168 Bengt-Erik Efraimsson - Anna Zack Efraimsson 127 4049 BK S:t Erik
24 37 -184 Magnus Eriksson - Ola Rimstedt 1170 88183 Harplinge BK
25 11 -201 Lennart Eriksson - Ola Brandborn 9020 13092 BK S:tErik
26 35 -258 Castor Mann - Alexander Sandin 58464 41730 BK S:t Erik - Storsjobygdens BK
27 4 -278 Peter Flodqvist - Peter Tornblom 14778 2265 BK S:t Erik
28 1 -288 Jan Andersson - Mikael Lindblom 11704 5094 BK S:tErik
29 32 -306 Emma Ovelius - Kenneth Borin 80922 2076  Filbyter Bridge - BK S:t Erik
30 28 -458 Par Ol-Mars - Patric Holmberg 5342 17031 BK S:tErik
31 6 -514 Erik Gulliksson - Tommi Ramstedt 24169 51783 Géavle BK - Lindesbergs BS
32 10 -594 Dan Bylund - Helena Strémberg 8223 12565 Sundsvallsbridgen
33 3 -608 Emanuel Unge - Fredrik Alfredsson 49509 83200 BK S:tErik
34 18 =727 Anders Bjoérkman - Ola Weinberg 56099 94278 BK S:tErik
35 34 -732 Gunnar Gothberg - Mats Winges 14641 84300 Nora BK - Falu BK
36 5 -845 Suzanne Lemborn - Tore Stormo 14984 78250 Karlstads BK - BK S:t Erik
37 36 -867 Thomas Kvist - Waldemar Folbrycht 52995 87455 Norrorts Bridge - Ystads BS
38 15 -920 Hjalmar Sandblom - Claes Melin 59323 9105 BK S:tErik
39 22 -956 Michael Schlumpf - Kenneth Léfstrand 82926 44356 BK S:tErik
40 14 -988 Gudrun Strandberg - Tommy Strindfors 4143 818 BK S:t Erik
41 21 -1028  Ann-Sophie Andersson - Katrin Thorstrém 39116 39115 Rimbo BK
42 20 -1325  Goéran Hammarstrom - Simon Bech 11426 87173 BK S:t Erik
1 4 K9 2 4873 3 4952
Nord v K106 Ost v KKn96 Syd v 862
Ingen + D8764 NS ¢ E953 ov ¢ E43
2Kn76 62 #9653
4DKn106 4E87543 4 K1042 4 D965 4« E876 & KKn43
vE9 vD84 v10872 vEDA43 v D97 v EK1053
¢ EKKn102 ¢9 41086 ¢ Kn7 ¢ Kn8765 ¢9
#103 *K82 *84 #Kn109 &E «D107
a2 & EKn «D10
vKn7532 v5 vKn4
+53 ¢ KD42 ¢+ KD102
&#ED954 #EKD753 #KKn842
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
12 31 44 O-2 +5 100 202.0 -202.0| 6 37 64 N= 43 1370 193.0 -193.0|22 21 2y O+2 ¢K -170 213.0 -213.0
340 44 O-1 v2 50 187.0 -187.0(35 8 6¢ S= 44 1370 193.0 -193.0|38 5 4v O = ¢K  -620 26.0 -26.0
16 27 44 O-1 v2 50 187.0 -187.0(36 7 6¢ N= 46 1370 193.0 -193.0| 340 4v O+1 ¢K -650 6.0 -6.0
6 37 44 O= +5 -420 -20.0 20.0(38 5 6¢ N= vA 1370 193.0 -193.0| 4 39 44 V+1 &5 -650 6.0 -6.0
10 33 44 V= v3 -420 -200 20.0(41 2 6¢ S= 44 1370 193.0 -193.0 (13 30 44 V+1 &5 -650 6.0 -6.0
18 25 44 O = v5 -420 -20.0 20.0(42 1 6¢ N= vA 1370 193.0 -193.0 (16 27 44 V+1 3 -650 6.0 -6.0
20 23 44 O = +5 -420 -20.0 20.0| 3 40 4NS+1 44 660 -340 34.0(18 25 44 V+1 v2 -650 6.0 -6.0
22 21 44 O= +5 -420 -20.0 200 439 3NS+2 v7 660 -34.0 34.0(29 14 44 V+1 6 -650 6.0 -6.0
32 11 44 O= v2 -420 -20.0 20.0(15 28 3NS+2 42 660 -340 3401|135 8 4vO+1 K  -650 6.0 -6.0
35 8 44 0= v2 -420 -20.0 20.0(17 26 3NN+2 44 660 -340 34.01(41 2 4vO+1 K -650 6.0 -6.0
38 5 44 O= +5 -420 -20.0 20.0(22 21 3NS+2 44 660 -34.0 340 6 37 4vy O+2 &2 -680 -15.0 15.0
42 1 44 O= v2 -420 -20.0 20.0(24 19 3NS+2 44 660 -34.0 34.0(10 33 44 O+2 43 -680 -15.0 15.0
439 44 O+1 &A 450 -40.0 40.0|29 14 3NS+2 44 660 -340 34.0(12 31 4v O+2 &2 -680 -15.0 15.0
13 30 44 O+1 v2 -450 -40.0 40.0(34 9 3NN+2 46 660 -34.0 34.0(15 28 44 O+2 &2 -680 -15.0 15.0
15 28 44 O+1 &A 450 -40.0 40.0|32 11 3NN+1 42 630 -48.0 48.0(24 19 44 V+2 &5 -680 -15.0 15.0
24 19 44 O+1 v2 -450 -40.0 40.0(12 31 5¢ N+1 vA 620 540 54.0(32 11 44 V+2 &5 -680 -15.0 15.0
34 9 464 O+1 v2 -450 -40.0 40.0(13 30 5¢ N+1 &J 620 540 540(34 9 4eV+2 a2 -680 -15.0 15.0
36 7 44 O+1 5 -450 -40.0 40.0(16 27 5¢ N+1 vA 620 -540 540|136 7 44 0+2 4Q -680 -150 15.0
41 2 44 O+1 43 -450 -40.0 40.0(18 25 2vDV-2 &6 300 -162.0 162.0|42 1 44 V+2 &5 -680 -15.0 15.0
17 26 44 O+2 v6 -480 -58.0 58.0(10 33 64 S-1 v7 -100 -257.0 257.0 (17 26 54DN-4 vK -800 -76.0 76.0
29 14 44 O+2 #A  -480 -58.0 58.0(20 23 6#S-1 a2 -100 -257.0 257.0 (20 23 54D S-4 7 -800 -76.0 76.0
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4 « EKD109 5 #9732 6 « D103
Vast v KKn7 Nord v K74 Ost v Kn43
Alla ¢ 974 NS ¢ EDKNn93 ov ¢ DKn985
#Kn6 »10 42
486 475 «EDKn8 454 29762 4 KKn5
v9 vED1062 v 62 vE109 vEK52 v1086
¢ KKn863 ¢ D105 + K10 ¢ 76542 ¢E1072 +K4
#108542 #E97 #EK975 D83 *E +KD1097
 Kn432 K106 « E84
v 8543 v DKn853 v D97
¢E2 +8 463
+«KD3 #Kn642 #Kn8653
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
35 10 44 N= 5 620 242.0 -242.0| 7 38 3NO-2 v5 100 98.0 -98.0| 540 3NO= +6 -600 9.0 -9.0
1 3 44 N-1 A -100 -6.0 6.0(30 15 3NO -2 vQ 100 98.0 -98.0|11 34 3NO= a4 -600 9.0 -9.0
4 41 44 N-1 Ly -100 -6.0 60| 1 3 3NO-1 +8 50 720 -72.0(16 29 3NO= 3 -600 9.0 -9.0
540 44 N-1 +5 -100 -6.0 6.0(19 26 24 V-1 v4 50 720 -72.0|17 28 3NO= +6 -600 9.0 -9.0
7 38 44 N-1 3 -100 -6.0 6.0(23 22 44 V-1 v4 50 720 -72.0|18 27 3NO= a4 -600 9.0 -9.0
13 32 44 S-1 a7 -100 -6.0 6.0|13 32 INO = v2 -90 30 -30(21 24 3NO= v7 -600 9.0 -9.0
14 31 44 N-1 43 -100 -6.0 6.0 540 3vS-1 A -100 -5.0 5.0(23 22 3NO = 3 -600 9.0 -9.0
16 29 44 N-1 43 -100 -6.0 6.0(39 6 3vS-1 K  -100 -5.0 5.0(25 20 3BNO = *2 -600 9.0 -9.0
17 28 44 N-1 3 -100 -6.0 60| 441 3&V-= 3 -110 -8.0 8.0(30 15 3NO = +6 -600 9.0 -9.0
18 27 44 N-1 24 -100 -6.0 6.0(11 34 3+ V= v4 -110 -8.0 8.0(33 12 3NV = ¢+Q -600 9.0 -9.0
19 26 44 N-1 45 -100 -6.0 6.0(16 29 2& V+1 T -110 -8.0 8.0(35 10 3NO= 3 -600 9.0 -9.0
21 24 44 N-1 3 -100 -6.0 6.0(17 28 24 O+1 42 -110 -8.0 8.0(36 9 3NV= +8 -600 9.0 -9.0
23 22 44 N-1 *7 -100 -6.0 6.0(33 12 3+ V= v2 -110 -8.0 801 3 3NO+1 &3 -630 -12.0 120
25 20 44 N-1 a7 -100 -6.0 6.0(36 9 3#V-= v4 -110 -8.0 80| 441 3NO+1 2 -630 -12.0 120
30 15 44 N-1 5 -100 -6.0 6.0|37 8 2#V+1l v4 -110 -8.0 8.0 738 3INO+1 «4 -630 -12.0 12.0
33 12 44 N-1 a2 -100 -6.0 6.0(42 2 3+V-= 43 -110 -8.0 8.0|13 32 3NO+1 #3 -630 -12.0 120
37 8 44 N-1 45 -100 -6.0 6.0(14 31 INO+2 +v3 -150 -31.0 31.0(14 31 3NO+1 &4 -630 -12.0 120
39 6 44 N-1 a7 -100 -6.0 6.0(25 20 2NO+1 &K -150 -31.0 31.0(19 26 3NO+1 43 -630 -12.0 12.0
42 2 44 N-1 a7 -100 -6.0 6.0(21 24 34 N-2 *2 200 -64.0 64.0(37 8 3NO+1 &5 -630 -12.0 120
11 34 44 S-2 v6 -200 -67.0 67.0(35 10 2¢vDS-1 A -200 -640 64.0(39 6 3NO+1 44 -630 -12.0 120
36 9 44 N-2 +5 200 -67.0 67.0(|18 27 3NO= v3 -400 -151.0 151.0(42 2 3NO+1 &3 -630 -12.0 120
7 497653 8 » K96 9 # 987543
Syd v 9754 Vast v KDKn73 Nord v2
Alla +95 Ingen + K64 ov + KKn105
72 #Kn9 &73
«ED102 48 a7 + EKn108 « EK62 4Knl0
v 102 v DKn863 v 9865 v42 vED98 v6543
¢ KDKn87 ¢ E64 ¢ Knl1032 ¢ E87 4987 4643
*Kn4 #EKD3 #7654 #E1083 *94 #10862
&« KKn4 « D5432 «D
vEK vE10 v KKn107
¢ 1032 ¢ D95 ¢ ED2
109865 #KD2 #EKDKnN5
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
5 1 4eV-2 v5 200 2470 -247.01 5 1 3NN+1 &3 430 110.0 -1100( 2 4 3NS+2 vA 460 94.0 -94.0
1532 6NDO-1 vA 200 247.0 -247.0(17 30 3NS+1 «J 430 110.0 -110.0|31 16 3NS+2 46 460 940 -94.0
12 35 2¢ V+5 &7 -190 167.0 -167.0 (24 23 4v N= v2 420 107.0 -107.0(38 9 44 N+1 &6 450 94.0 -94.0
42 3 5¢ V= *7 -600 11.0 -11.0|12 35 3NN= «8 400 96.0 -96.0| 6 41 3NS+1 46 430 76.0 -76.0
8 39 5v O= vA 650 -25.0 25.0(19 28 3NS= +J 400 96.0 -96.0(19 28 3NS+1 9 430 76.0 -76.0
2 4 3NV+2 &7 -660 -25.0 25.0(22 25 3NN= «2 400 96.0 -96.0(20 27 3NS+1 v9 430 76.0 -76.0
6 41 3NO+2 &T -660 -25.0 25.0(31 16 3NS= 47 400 96.0 -96.0 |15 32 44 S= +9 420 75.0 -75.0
14 33 3NO+2 %6 -660 -25.0 25.0|34 13 3NS= +J 400 96.0 -96.0(17 30 44 N= +8 420 75.0 -75.0
17 30 3NO+2  &T -660 -25.0 25.0(40 7 3NS= «5 400 96.0 -96.0 (26 21 44 S= «9 420 75.0 -75.0
18 29 3NV +2 &4 -660 -25.0 25.0(42 3 3NN-= ¢7 400 96.0 -96.0|37 10 44 N= ¢4 420 75.0 -75.0
19 28 3NO+2 T -660 -25.0 25.0(26 21 14DO-2 &K 300 46.0 -46.0|42 3 44 N= +3 420 75.0 -75.0
22 25 3NO+2  &T -660 -25.0 25.0(37 10 24D O-2 &K 300 46.0 -46.0(14 33 3NS= +8 400 62.0 -62.0
24 23 3NO+2  &T -660 -25.0 25.0(20 27 2v N= A 110 -39.0 39.0(36 11 3NS= ¢7 400 62.0 -62.0
26 21 3NO+2 &T -660 -25.0 250 6 41 3NN-1 *2 -50 -104.0 104.0 |22 25 4% S= K 130 -61.0 61.0
3116 3NO+2 &T -660 -25.0 25.0(15 32 3NS-1 5 -50 -104.0 104.0|34 13 3 S= «4 110 -72.0 72.0
36 11 3NO+2 &T -660 -25.0 25.0(18 29 3NN-1 3 -50 -104.0 1040 5 1 5&#S-1 +K -50 -138.0 138.0
37 10 3NO+2 4K -660 -25.0 250( 2 4 3NN-2 v2 -100 -132.0 132.0|12 35 44 S-1 *9 -50 -138.0 138.0
38 9 3NO+2 45 -660 -25.0 25.0( 8 39 44 N-2 #A  -100 -132.0 132.0 (24 23 44 N-1 v5 -50 -138.0 138.0
40 7 3NO+2 &T -660 -25.0 25.0(36 11 34DS-1 +¢J -100 -132.0 132.0(40 7 3NS-1 & A -50 -138.0 138.0
20 27 3NV +3 43 -690 -43.0 43.0(14 33 24DO= <vA  -180 -155.0 1550 8 39 54DN-1 ¢3 -100 -162.0 162.0
34 13 66 V+1 &7 -1390 -254.0 254.0(38 9 44DN-2 v4 -300 -189.0 189.0 (18 29 5# S-2 «K -100 -162.0 162.0
10 K4 11 « EKDKn2 12 «Kn53
Ost vE5 Syd vED Vast v EKD65
Alla ¢ ED973 Ingen + Kn10 NS ¢ D72
*EK76 *E842 £98
49 + EDKn102 475 + 108643 aE2 » 964
vD763 v108 v Kn4 v 98752 v 1032 v 87
¢ K1064 ¢ Kn52 ¢ E642 + KD ¢ EKKn43 ¢ 985
#DKn54 #932 2109653 #D *742 #KKn653
# 87653 49 « KD1087
v KKn942 vK1063 v Kn94
+8 498753 + 106
#108 #KKn7 #EDI10
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
39 10 4v S= ¢6 620 205.0 -205.0 (21 28 4vDO-6 49 1400 272.0 -272.0125 24 3NN+1 #3 630 100.0 -100.0
42 4 4y S= 8 620 205.0 -205.0 (32 17 2¢vDO-5 ¢9 1100 218.0 -2180| 3 5 44 S= ¢A 620 99.0 -99.0
19 30 3NN= «T 600 200.0 -200.0 {38 11 2¢vDO-4 «K 800 133.0 -133.0( 6 2 4v N= +5 620 99.0 -99.0
37 12 3NN= «J 600 200.0 -200.0 {35 14 4NN+2 v2 490 -2.0 207 1 4eS-= ¢A 620 99.0 -99.0
38 11 3NN= «J 600 200.0 -200.0( 3 5 3NS+2 &3 460 -21.0 21.0(13 36 4v N= +9 620 99.0 -99.0
32 17 2v N+2 +2 170 730 -730| 6 2 3NN+2 v2 460 -21.0 21.0|15 34 44 S= ¢2 620 99.0 -99.0
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7 1 3vS= 9 140 620 -620| 7 1 3NN+2 v9 460 -21.0 21016 33 4y N= ¢5 620 99.0 -99.0
20 29 3v S= 42 140 62.0 -62.0|13 36 3NS+2 #6 460 -21.0 21019 30 44 S= ¢A 620 99.0 -99.0
13 36 3NN-1 A -100 -29.0 29.0(19 30 3NS+2 #2 460 -21.0 21.0|23 26 44 S= ¢A 620 99.0 -99.0
16 33 3NN-1 LN -100 -29.0 29.0|120 29 3NS+2 #2 460 -21.0  21.0(27 22 4y N= «4 620 99.0 -99.0
21 28 3#N-1 vT -100 -29.0 29.0(23 26 3NS+2 vJ 460 -21.0 21042 4 44 N= ¢6 620 99.0 -99.0

3 5 44DN-1 T -200 -740 740|2524 3NS+2 #3 460 -21.0 21.0|39 10 INV -4 vA 200 -91.0 91.0

9 40 3¢ N-2 vT -200 -740 74.0(37 12 3NS+2 #4 460 210 21.0| 940 2y N+2 #3 170 -111.0 111.0
1534 4v S-2 a2 -200 -740 74041 8 3NS+2 3 460 -21.0 21.0|18 31 3y N+1 +5 170 -111.0 111.0
23 26 3NN-2 +] -200 -740 74042 4 3NS+2 8 460 -21.0 2102029 2y N+2 9 170 -111.0 111.0
27 22 4v S-2 49 -200 -740 740 940 3NN+1 v2 430 -39.0 39.0(21 28 3y N+1 4 170 -111.0 111.0
3514 4v N-3 3 -300 -116.0 116.0|27 22 3NS+1 #3 430 -39.0 39.0(32 17 3y N+1 +2 170 -111.0 111.0

6 2 3NN-4 *2 -400 -149.0 149.0(39 10 3NS+1 &7 430 -39.0 39.0(3514 2y N+2 #3 170 -111.0 111.0
18 31 4NS-4 49 -400 -149.0 149.0|18 31 44 N= ¢ K 420 -40.0 40.0|37 12 2¢» N+2 +5 170 -111.0 111.0
25 24 3NN-4 vT  -400 -149.0 149.0(15 34 3NN= v2 400 -57.0 57.0(38 11 2v N+2 #3 170 -111.0 111.0
41 8 44 N-5 *6 -500 -187.0 187.0 (16 33 3% N= ¢K 110 -176.0 176.0(41 8 3v N+1 ¢5 170 -111.0 1110
13 3 14 «E103 15 4 DKn
Nord v 1076 Ost vED74 Syd v D1062
Alla ¢ DKn9542 Ingen ¢ 843 NS + 872

#1083 #ED9 #10632
4KD76  4Kn 4 876 & KDKn42 « EK98732 4104
vKn v EKD9832 vKn98653 vK2 v 98 v EKKn43
¢ K10863 +¢7 +10 ¢ EKn2 + D6 + E109
#EK9 #DKn54 *K76 #432 *K5 #Kn98

« E1098542 495 465

v54 v10 v75

¢E ¢ KD9765 ¢ KKn543

£762 #Kn1085 #ED74

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
1734 3y O+1 &A -170 225.0 -225.0|26 25 44DO-4 T 800 246.0 -246.0 |38 13 64 V-2 +8 100 216.0 -216.0

7 3 490+1 ¢A -650 47.0 -470(33 18 3NN+1 &K 430 146.0 -146.0 (36 15 34 V+1 T  -170 120.0 -120.0
10 41 4v O+1 ¢A  -650 47.0 -47.0)|20 31 5¢ S= 42 400 133.0 -133.0| 4 6 44 V= aJ -420 -1.0 1.0
16 35 4vy O+1 +¢A  -650 47.0 -47.0|40 11 3vyDO-2 «J 300 89.0 -89.0|19 32 4e V= 2 -420 -1.0 1.0
20 31 4v O+1 «A  -650 470 -470( 4 6 4¢ S+1 ¢2 150 21.0 -21.0(22 29 44 V= %3 -420 -1.0 10
24 27 5v O= ¢A  -650 470 -470( 7 3 4¢ S+1 46 150 21.0 -21.0|24 27 44 V= 2 -420 -1.0 1.0
26 25 5v O = «A  -650 470 -470| 8 2 3¢ S+2 46 150 21.0 -21.0]40 11 4a V= +3 -420 -1.0 1.0
3318 4v O+l ¢A  -650 47.0 -47.0|14 37 3¢ S+2 «J 150 21.0 -21.0|14 37 3NO+1 #A  -430 -1.0 10
36 15 4v O+1 ¢A  -650 470 -47.0(28 23 3¢ S+2 46 150 21.0 -21.0] 1 9 44 V+l v6 -450 -21.0 21.0
38 13 4v O+1 #4A  -650 47.0 -47.0|42 5 4¢ S+1 46 150 21.0 -21.0|10 41 44 V+1 &2 -450 -21.0 21.0
3912 4y O+1 &A  -650 470 -470(16 35 2v O-1 ¢+K 50 -30.0 30.0(16 35 44 V+1 ¢2 -450 -21.0 210
42 5 4v O+1 «A  -650 47.0 -47.0)22 29 24 O-1 v9 50 -30.0 30017 34 44 O+1 3 -450 -21.0 21.0

8 2 4v0O0+2 +A -680 27.0 -27.0|36 15 2v O-1 ¢+K 50 -30.0 30.0|20 31 44 V+1 2 -450 -21.0 21.0
19 32 4vy O+2 «A  -680 27.0 -27.0|38 13 2v O-1 vT 50 -30.0 30.0(21 30 44 V+1 43 -450 -21.0 210
21 30 4y O+2 ¢A  -680 27.0 -27.0]1 1 9 3NN-1 oK -50 -780 78.0|26 25 44 O+1 43 -450 -21.0 21.0
2229 49y O0+2 +¢A  -680 27.0 -27.0]10 41 3NN-1 «Q -50 -780 78.0|28 23 44 V+1 v6 -450 -21.0 21.0
40 11 24DS-3 vJ -800 -25.0 25.0(19 32 3NN-1 +K -50 -78.0 78.0|33 18 44 V+1 v6 -450 -21.0 210

4 6 44DN-4 3 -1100 -145.0 145.0|24 27 3NN-1 &K 50 -780 78.0(39 12 44 V+1 2 -450 -21.0 210

1 9 44DS-5 #A -1400 -224.0 224.0|39 12 5¢ S-1 46 50 -78.0 78.0| 7 3 44 V+2 &3 -480 -40.0 40.0
14 37 44DS-5 vJ -1400 -224.0 224.0|21 30 3NDN-1 4K -100 -105.0 105.0| 8 2 44 V+2 &3 -480 -40.0 40.0
28 23 6v O= ¢A -1430 -232.0 232.0(17 34 3NN-3 4K  -150 -125.0 125.0(42 5 44 V+2 v3 -480 -40.0 40.0
16 « EKn6 17 #8432 18 «E93
Vast v EDKn5 Nord v 83 Ost v10
oV + KKn6 Ingen ¢+ Knl10 NS + DKn76

#1052 #E10542 #E8763

aD 4 K8532 4 K75 «ED109 410762 « KDKn84
v10632 vK94 v 62 vED97 vKDKn975 vE62
¢D1082 +¢97 ¢ E8432 ¢976 +108 42
#E873  #KDKn #K83 #Kn9 &2 #D105

« 10974 4 Kn6 5

v87 v KKn1054 v 843

¢ E543 ¢ KD5 ¢ EK953

#964 «D76 #KKn94

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

9 3 24 0-2 v8 200 65.0 -65.0(15 38 3NV-1 v8 50 93.0 -93.0(34 19 5¢DS+1 ¥vK 950 246.0 -246.0
34 19 INN+3 44 180 59.0 -59.0(18 35 3NO-1 s] 50 93.0 -930| 9 3 5¢S+1 &3 620 159.0 -159.0
41 12 INN+2 42 150 410 -410| 5 7 2vS-1 3 -50 420 -420(25 28 5#S+1 vK 620 159.0 -159.0

210 INN+1 3 120 25.0 -25.0(11 1 2vN-1 *3 -50 42.0 -42.0|29 24 5¢ N= vK 600 153.0 -153.0
17 36 INN+1 43 120 25.0 -25.0|17 36 14 O= +K -80 23.0 -23.0|39 14 5& N = «K 600 153.0 -153.0
22 31 INN+1 42 120 25.0 -25.0|39 14 14 O= ¢+ K -80 230 -230| 5 7 54DO-3 ¢A 500 117.0 -117.0
27 26 INN+1 &2 120 250 -25.0| 8 4 INV= &4 -90 21.0 -21.0|41 12 64aDO-3 ¢K 500 117.0 -117.0
37 16 INN+1 &5 120 25.0 -25.0(20 33 2¢ V+1 v8 -110 40 -40|17 36 54D0O-2 +¢K 300 37.0 -37.0

8 4 24 O-1 v8 100 50 -5.0(37 16 24 V= *J -110 40 -40| 8 4 44N+1 &K 150 -20.0 20.0
18 35 24 O-1 v8 100 50 -5.0(42 6 24 0= ¢K  -110 40 -40|18 35 44DO-1 ¢A 100 -43.0 43.0
2528 INV-1 vJ 100 50 -5.0(2528 INO+1 T  -120 20 -2.0]|20 33 44 V-2 ¢A 100 -43.0 43.0

5 7 INN= 43 90 40 -40|40 13 14 O+2 ¢K -140 -17.0 17.0|22 31 44 V-2 ¢K 100 -43.0 43.0
20 33 INN= a2 90 40 -40|9 3 INO+2 T -150 -17.0 17.0(23 30 44DO-1 +¢A 100 -43.0 43.0
21 32 INN= a2 90 40 -40|21 32 INO+2 &J -150 -17.0 170( 2 10 44 O-1 ¢A 50 -68.0 68.0
29 24 INN= 43 90 40 -40|22 31 INO+2 T -150 -17.0 17.0|15 38 44 O-1 ¢A 50 -68.0 68.0
39 14 INN= 46 90 40 -40(23 30 INV+2 44 -150  -17.0 17.0|27 26 44 O-1 ¢A 50 -68.0 68.0
40 13 INN-= 45 90 40 -40|29 24 2NO+1 K -150 -170 17.0(37 16 44 O-1 ¢A 50 -68.0 68.0
11 1 2¢ N-1 &K -50 -76.0 76.0(27 26 1a O+3 4] 170 -340 340|142 6 44 O-1 ¢A 50 -68.0 68.0
1538 INN-1 a2 -50 -76.0 76.0| 2 10 INO+3 v4 -180 -37.0 37.0|21 32 3vO= a2 -140 -137.0 137.0
42 6 INN-1 a2 50 -76.0 76.0|41 12 2NO+2 v2 -180 -37.0 37.0(40 13 44 O= ¢A 420 -219.0 219.0
23 30 3¢ S-2 «Q -100 -101.0 101.0(34 19 3NO= LN -400 -141.0 1410|11 1 44DO= ¢A -590 -253.0 253.0
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19 @- 20 « D73 21 K984
Syd v K108542 Vast vDKn Nord vKn
ov ¢ KD942 Alla ¢ E75 NS ¢+ DKn1064
&E6 #EK873 #1062
« EKn108432 4975 a4 & EKKN109652 «D 4 Kn10762
v93 vKn7 v 97654 v3 v109752 v ED863
¢ 753 + 1086 ¢ Kn109842 3 ¢+5 ¢+ E2
*9 #87543 &5 +D102 #EKN9874 &K
« KD6 8 « E53
vEDG6 v EK1082 vK4
¢ EKn + KD6 + K9873
#KDKn102 #Kn964 #D53
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
113 7vy N= 42 1510 117.0 -117.0| 9 5 54DS= 44 750 162.0 -162.0| 1 13 6v O-1 +3 50 205.0 -205.0
311 7¢vS= v3 1510 117.0 -117.0|10 4 3NN+2 &A 660 127.0 -127.0(35 20 14 O-1 43 50 205.0 -205.0
6 8 7vS= v3 1510 117.0 -117.0|16 39 4NN+1 &A 660 127.0 -127.0126 29 2&# O+1 %3 -110  142.0 -142.0
9 5 7¢vS= +J 1510 117.0 -117.0|19 36 3NN+2 &A 660 127.0 -127.0|19 36 4y O= +3 -420 20 -20
12 2 7v N= s A 1510 117.0 -117.0 (40 15 3NN+2 4A 660 127.0 -1270( 6 8 4v O+1 3 -450 -18.0 18.0
18 37 7v S= «J 1510 117.0 -117.0| 1 13 44D O-2 vA 500 640 -640| 9 5 4vO+1 ¢3 -450 -18.0 18.0
2332 7v S= s A 1510 117.0 -117.0|18 37 44D O-2 vA 500 640 -64.0(12 2 4y O+1 ¢3 -450 -18.0 18.0
38 17 7v S= 42 1510 117.0 -117.0 (21 34 44D O-2 vA 500 64.0 -64.0(16 39 4y O+1 &2 -450 -18.0 18.0
41 14 7y N= 42 1510 117.0 -117.0|26 29 44D O-2 vA 500 640 -64.0(18 37 4y O+1 3 -450 -18.0 18.0
42 7 7v S= s A 1510 117.0 -117.0|30 25 44D O-2 vA 500 64.0 -64.0(21 34 4vy O+1 +3 -450 -18.0 18.0
16 39 6NN+1 #3 1020 -100.0 100.0|35 20 44DO-2 vA 500 64.0 -64.0(22 33 4y O+1 &3 -450 -18.0 18.0
19 36 6N S +1 «J 1020 -100.0 100.0 (41 14 44DO-2 vA 500 640 -64.0(23 32 4y O+1 3 -450 -18.0 18.0
30 25 6NS+1 +6 1020 -100.0 100.0 (42 7 44DV-2 vA 500 64.0 -64.0(24 31 4y O+1 ¢2 -450 -18.0 18.0
40 15 6N S +1 v9 1020 -100.0 100.0| 3 11 44DO-1 vA 200 -61.0 61.0(28 27 4v O+1 3 -450 -18.0 18.0
10 4 6vy N+1 43 1010 -110.0 1100 6 8 44DO-1 K 200 -61.0 61.0(30 25 4v O+1 3 -450 -18.0 18.0
21 34 6vy N+1 &5 1010 -110.0 110.0(12 2 4v S-1 Ly -100 -169.0 169.0 (38 17 4v O+1 &3 -450 -18.0 18.0
22 33 6vy S+1 A 1010 -110.0 110.0 |23 32 64 N-1 s A -100 -169.0 169.0 (40 15 4v O+1 ¢3 -450 -18.0 18.0
24 31 6vy N+1 &5 1010 -110.0 110.0 (24 31 64 S-1 Ly -100 -169.0 169.0|41 14 4y O+1 &2 -450 -18.0 18.0
26 29 6v S+1 sA 1010 -110.0 110.0 (38 17 5# S-1 43 -100 -169.0 169.0(42 7 4y V+1 &3 -450 -18.0 18.0
28 27 6y N+1 48 1010 -110.0 110.0 |22 33 5v S-2 43 -200 -192.0 192.0(10 4 4vy O+2 43 -480 -36.0 36.0
3520 6v S+1 9 1010 -110.0 110.0 (28 27 5v S-2 a4 -200 -192.0 192.0| 3 11 34DN-4 &K -1100 -248.0 248.0
22 # K10852 23 « Kn874 24 « Kn83
Ost v84 Syd vK8 Vast v 1062
()Y + KD1062 Alla ¢+ D10976 Ingen ¢ Kn865
&8 #Kn9 D98
4643 497 4 KD632 4105 + 1062 « ED975
v 96 vKD1032 v97 v EDKn1062 v D94 v K73
¢73 ¢+ E84 ¢ Kn2 ¢+ E8 * K7 + ED93
#EKN10543 #962 #8732 &E64 #EK1043 #6
« EDKn «E9 4 K4
v EKNn75 v 543 v EKn85
¢ Kn95 ¢ K543 ¢ 1042
&KD7 #KD105 £Kn752
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
11 5 2¢DO-2 ¢K 500 75.0 -75.0(24 33 44 V-3 v8 300 148.0 -148.0| 4 12 44 O= »5 -420 14.0 -14.0
115 54 S= A 450 49.0 -490( 7 9 44DV-1 v8 200 103.0 -103.0( 7 9 44 V= v2 -420 140 -14.0
13 3 44 N+1 vQ 450 49.0 -49.0|31 26 4y O-2 K 200 103.0 -103.0|10 6 44 O= vA -420 14.0 -14.0
20 37 44 S+1 #A 450 49.0 -49.0|27 30 3¢ N= vA 110 55.0 -55.0(17 40 44 O = +3 -420 14.0 -14.0
24 33 44 N+1 #2450 49.0 -49.0|10 6 3vO-1 +6 100 52.0 -52.0(31 26 44 V= v2 -420 140 -14.0
27 30 54 N= #2 450 49.0 -49.0|11 5 4v0O-1 K 100 52.0 -52.0(36 21 44 O= *T -420 14.0 -14.0
214 44 S= v9 420 310 -31.0|13 3 3vO-1 ¢4 100 52.0 -52.0(39 18 44 O = 2 -420 14.0 -14.0
4 12 44 N= vK 420 31.0 -31.0(23 34 4v O-1 K 100 520 -52.0| 2 14 44 O+1 &5 -450 -7.0 7.0
7 9 44 S= v9 420 31.0 -31.0|25 32 3vO-1 +4 100 520 -52.0(11 5 44 O+1 vJ -450 -7.0 7.0
10 6 44 S= v9 420 310 -31.0|36 21 3v O-1 K 100 52.0 -52.0(13 3 4s V+1 v3 -450 -7.0 7.0
22 35 44 N= vK 420 31.0 -310( 214 2v0O= s A -110  -51.0 51.0(19 38 44 O+1 &5 -450 -7.0 7.0
25 32 44 S= v9 420 310 -31.0| 412 2vO= s A -110 -51.0 51.0(|20 37 44 O+1 +6 -450 -7.0 7.0
29 28 44 S= v9 420 31.0 -31.0|19 38 2v O= ¢+ 4 -110 -51.0 51.0(|22 35 54 O = +3 -450 -7.0 7.0
31 26 44 S= 43 420 31.0 -310( 115 2vO+1 #K -140  -71.0 71.0(|24 33 44 O+1 ¢2 -450 -7.0 7.0
39 18 44 N= vyK 420 310 -31.0|17 40 2¢ O+1 &K -140  -71.0 71.0|27 30 4e V+1 v2 -450 -7.0 7.0
41 16 44 N= vK 420 310 -31.0|20 37 2¢v O+1 &K -140  -71.0 71.0(29 28 44 O+1 &8 -450 -7.0 7.0
42 8 44 N= vK 420 31.0 -31.0|22 35 2¢v O+1 3 -140 -71.0 71.0(|41 16 44 O+1 ¢3 -450 -7.0 7.0
17 40 34 S+1 v8 170 -89.0 89.0(29 28 2v O+1 #A -140  -71.0 71.0(|42 8 44 V+1 &5 -450 -7.0 7.0
36 21 6NS-1 43 -50 -178.0 178.0|39 18 2y O+1 3 -140  -71.0 71.0| 1 15 3NV +2 6 -460 -7.0 7.0
19 38 3NS-2 &T -100 -197.0 197.0(|41 16 2¢v O+1 &K -140  -71.0 71.0|23 34 3NV +2 v6 -460 -7.0 7.0
23 34 3NS-2 »8 -100 -197.0 197.0(|42 8 3vO= LY -140  -71.0 71.0|25 32 4NV +1 »8 -460 -7.0 7.0
25 « E82 26 #« Kn1053 27 #1063
Nord v 10973 Ost v7 Syd v Kn765
ov ¢+ K4 Alla + KKn853 Ingen ¢ Kn3
#E1092 #932 #D963
4 KKn103 496 « EK4 492 4 K987 4ED42
v Kn5 v EK86 v 642 vKD108 vD v 9843
4+ Kn10972 ¢ E853 ¢+ D2 + E1074 ¢ EK86 942
*74 *K65 #DKn1075 &EKS8 #E1072 %85
« D754 « D876 & Kn5
v D42 v EKn953 v EK102
+ D6 496 ¢+ D1075
#DKn83 64 &KKn4
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
23 36 24 V-1 42 100 103.0 -103.0| 513 3NO= a7 -600 38.0 -38.0|11 7 INDS+1 +¢A 280 164.0 -164.0
11 7 INN= vA 90 102.0 -102.0|14 4 3NO= 3 -600 380 -38.0| 513 INDS= +A 180 124.0 -124.0
24 35 INN= vA 90 102.0 -102.0|12 6 3NO+1 3 -630 18.0 -18.0| 2 16 3NV -2 6 100 84.0 -84.0
315 INS-1 +J -50 26.0 -26.0(32 27 3ANO+1 *3 -630 18.0 -18.0(12 6 44 V-2 6 100 84.0 -84.0
30 29 INN-1 +6 -50 260 -26.0(37 22 3BNO+1 ¥3 -630 18.0 -18.0(37 22 INO-1 8 50 59.0 -59.0
42 9 14 O= *Q -80 120 -120| 2 16 3NO+2 *3 -660 -3.0 30| 117 INS-1 a7 -50 10.0 -10.0
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12 6 INO= *Q -90 30 -30| 315 3NO+2 v3 -660 -3.0 30| 810 INS-1 a7 -50 10.0 -10.0
216 INN- ¢5 -100 0.0 0.0 810 3NO+2 v¥5 -660 -3.0 302534 INS-1 48 -50 10.0 -10.0
28 31 INDN-1 +¢5 -100 0.0 0.0[11 7 3NO+2 3 -660 -3.0 3.0(26 33 INS-1 ¢ A -50 10.0 -10.0
40 19 INO+1 42 -120  -15.0 15.0(18 41 3NO+2 v3 -660 -3.0 30|14 4 INO= &4 -90 -150 15.0
810 3¢ V+1 &2 -130 -18.0 18.0|20 39 3NO+2 ¢3 -660 -3.0 30|18 41 INV= v6 -90 -150 15.0
18 41 2¢ O+2 v2 -130 -18.0 18.0(21 38 3NO+2 v3 -660 -3.0 3.0(40 19 INV= *6 -90 -15.0 15.0
25 34 3¢ V41 vT -130 -18.0 18.0|23 36 3NO+2 v3 -660 -3.0 30|21 38 INDS-1 8 -100 -22.0 220
26 33 2¢ V+2 vT -130 -18.0 18.0|24 35 3NO+2 v2 -660 -3.0 3.0(23 36 3« N-2 9 -100  -22.0 220
32 27 2¢ V+2 w7 -130 -18.0 18.0(25 34 3NO+2 3 -660 -3.0 3.0(30 29 24 N-2 v9 -100 -22.0 220
37 22 3¢ V41 vT -130 -18.0 18.0|26 33 3NO+2 v3 -660 -3.0 30(42 9 INDS-1 A -100 -220 220
117 2¢ V+3 42 -150 -35.0 350028 31 3NO+2 ¢3 -660 -3.0 301 315 24 0+1 vA -140 -450 450
14 4 INO+2 #Q -150 -350 35.0(|3029 3NO+2 ¢33 -660 -3.0 30(20 39 24 O+1 vA  -140 -45.0 45.0
20 39 2v N-3 49 -150 -35.0 350040 19 3NO+2 v2 -660 -3.0 3032 27 24 O+1 vK -140 -45.0 45.0
21 38 INO+2 45 -150 -35.0 350(42 9 3NV+2 v3 -660 -3.0 30|24 35 3yDN-2 2 -300 -115.0 115.0
513 24DN-2 ¢J -300 -111.0 1110|117 1vDS-3 #Q -800 -850 850(28 31 44 O= YA  -420 -172.0 1720
28 « D6 29 476 30 462
Vast vKn73 Nord v K98 Ost v EK863
NS ¢ EKn9 Alla ¢ EK72 Ingen ¢ D42
#Kn9652 #EDKnN2 #D63
4Kn753 4 E109842 « KD52 «10 « EKKn983 & D4
v 964 v K2 vDKn1054 v763 vD102 vKn74
¢ D52 ¢ 1073 ¢ Kn6 ¢ 109853 +6 + EK985
#743 «D10 *K7 #10984 *K72 #EKn5
oK « EKn9843 #1075
vED1085 vE2 v 95
+ K864 ¢+ D4 ¢ Kn1073
#EK8 #653 #10984
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
27 34 3vDV-6 «Q 1400 249.0 -249.0 (13 7 3NN+ &T 660 50 -5.0(15 5 64 0-2 vA 100 211.0 -211.0
33 28 44DO-5 &A 1100 177.0 -177.0( 2 18 54 N= T 650 50 -5.0]|27 34 6NO-1 &T 50 191.0 -191.0
38 23 44DO-5 &A 1100 177.0 -177.0| 3 17 44 S+1 vQ 650 50 50| 218 44 0= v9 -420 -18.0 18.0
6 14 44DO-4 #A 800 63.0 -63.0| 4 16 44 N+1 ¢2 650 50 50| 317 44 V= vQ -420 -180 180
911 5vS+1 45 680 11.0 -11.0| 6 14 44 N+1 T 650 50 -5.0| 614 44 V= vK  -420 -180 180
26 35 4v S+2 45 680 11.0 -11.0| 9 11 44 N+1 v7 650 50 -5.0[ 911 4e V= vyA -420 -180 180
29 32 4v S+2 45 680 11.0 -11.0|12 8 44 N+1 T 650 50 -5.0(12 8 4a V= vyA  -420 -180 180
41 20 4v S+2 5 680 11.0 -11.0(19 1 44 S+1 vQ 650 50 50|13 7 44 O= v9 -420 -18.0 18.0
317 49y S+1 ¢2 650 -8.0 8.0(22 39 44 S+1 vQ 650 50 -5.0(19 1 4aV= vyA  -420 -180 180
416 4v S+1 ¢2 650 -8.0 8.0(24 37 44 S+1 vQ 650 50 -5.0(21 40 44 O= v9 -420 -18.0 18.0
19 1 4vS+1 #2650 -8.0 8.0(25 36 44 N+1 #T 650 50 -5.0|22 39 44 O= v9 -420 -18.0 18.0
24 37 4v N+1  #Q 650 -8.0 8026 35 44 S+1 vQ 650 50 -5.0(24 37 4a4 V= vyA  -420 -180 180
2536 4v S+1 4J 650 -8.0 80|27 34 44 N+1 v3 650 50 -5.0|2536 44 O= v9 -420 -18.0 18.0
42 10 4v S+1 5 650 -8.0 8.0(29 32 44 N+1 ¢6 650 50 -5.0|26 35 4e V= vK  -420 -180 180
12 8 54 N+1 4A 620 -23.0 230|31 30 44 S+1 vQ 650 50 -5.0(29 32 44 V= vyA  -420 -180 180
3130 54 N+1 «A 620 -23.0 23041 20 44 S+1 vQ 650 50 -5.0(38 23 44 V= vyA  -420 -180 180
2 18 3NN-= +4 600 -37.0 37.0(42 10 44 S+1 vQ 650 50 -5.0]41 20 44 O= v9 -420 -18.0 18.0
13 7 5¢ S= 46 600 -37.0 37015 5 44 S= vQ 620 -16.0 16.0 (42 10 4e V= vyA -420 -180 180
15 5 44 O-5 A 250 -179.0 179.0 (21 40 44 S= vQ 620 -16.0 16.0|31 30 44 O+1 T -450 -38.0 38.0
21 40 44 O-5 A 250 -179.0 179.0|33 28 44 S= vQ 620 -16.0 16.0| 4 16 3NO+2 &5 -460 -38.0 38.0
22 39 2vS+4 46 230 -184.0 184.0 (38 23 3NS= vQ 600 -37.0 37033 28 3NO+2 &T -460 -380 38.0
31 « EK105 32 « DKn4 33 a-
Syd vE73 Vast vE7 Nord vED3
NS ¢ ED7 oV + D863 Ingen ¢ EKKn5
»762 #9652 #EKD543
49873 464 4 K93 41087 4 K10976 4Kn4
v K98 v 1064 vKn96543 v K10 v9 v KKn87
¢ K1032 ¢ Kn865 ¢42 ¢ EK107 +D1096 87432
*K5 #ED98 *84 #EKKnN10 *972 *Kn6
& DKn2 & E652 « ED8532
v DKn52 v D82 v 106542
94 ¢ Kn95 .-
#Kn1043 «D73 «108
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 9 3NN-= +5 600 141.0 -141.0|28 35 3NO-3 45 300 173.0 -173.0| 7 15 6& N= ¢2 920 234.0 -234.0
16 6 3NN= «6 600 141.0 -1410( 4 18 2NO-2 «2 200 136.0 -136.0 (13 9 6% N= v8 920 234.0 -234.0
22 41 3NN= v6 600 141.0 -141.0| 7 15 4v V-2 «Q 200 136.0 -136.0|16 6 6% N= ¢3 920 234.0 -234.0
25 38 3NN = v4 600 141.0 -141.0|16 6 4v V-2 «Q 200 136.0 -136.0 |27 36 6% N = +8 920 234.0 -234.0
28 35 3NN= v4 600 141.0 -141.0(27 36 4v V-1 vA 100 90.0 -90.0|42 11 5& N = 42 400 122.0 -122.0
32 31 3NN= v4 600 141.0 -141.0|39 24 4v V-1 «Q 100 90.0 -90.0|28 35 14DV-2 &A 300 85.0 -85.0
39 24 3NN-= ¢6 600 141.0 -141.0|22 41 2NO = +5 -120  -13.0 13.0|10 12 6« N-1 v3 -50 -46.0 46.0
10 12 INN+3 #9 180 -43.0 43.0| 121 2vO+1 5 -140 -28.0 28014 8 64 N-1 *2 -50 -46.0 46.0
121 2NN+1 #9 150 -64.0 640 319 3v V= «Q -140 -28.0 28.0(26 37 5# N-1 LN -50 -46.0 46.0
319 INN+2 v4 150 -64.0 64.0(26 37 3v V= «Q -140 -28.0 28.0( 121 6v N-2 N -100 -75.0 75.0
418 INN+2 ¢2 150 -64.0 64.0(30 33 3v V= «Q -140 -280 280( 319 6% N-2 s] -100 -75.0 75.0
517 2NN+1 ¢5 150 -64.0 640(42 11 2vO+1 ¢2 -140 -28.0 28.0| 4 18 64 N-2 LN -100 -75.0 75.0
715 INN+2 +6 150 -64.0 640| 517 2v O+2 #3 -170  -47.0 47.0| 517 7#N-2 vJ -100 -75.0 75.0
14 8 INN+2 ¢3 150 640 64.0(13 9 2¢vV+2 «Q -170 -470 470(20 2 6% N-2 s] -100 -75.0 75.0
26 37 INN+2 v6 150 -64.0 64014 8 2vO+2 &6 -170  -47.0 47.0|22 41 6% N-2 LN -100 -75.0 75.0
27 36 INN+2 ¢6 150 -640 64.0(20 2 3v O+1 2 -170  -47.0 47.0|23 40 6NS-2 &2 -100 -75.0 75.0
30 33 2NN+1 ¢4 150 -64.0 64.0(23 40 2v O+2 ¢ -170 -47.0 47.0(25 38 7# N-2 *2 -100 -75.0 75.0
34 29 INN+2 v4 150 -64.0 64.0|2538 2v V+2 &5 -170  -47.0 47.0|32 31 6v N-2 a2 -100 -75.0 75.0
42 11 INN+2 +7 150 -64.0 64.0(32 31 2vV+2 &5 -170  -47.0 47.0|30 33 7# N-3 a) -150 -102.0 102.0
20 2 2NN= ¢2 120 7170 77.0(34 29 3vO+2 v2 -200 -62.0 62.0(34 29 6v S-3 v9 -150 -102.0 102.0
23 40 3NN-1 &9 -100 -163.0 163.0|10 12 4v O= *9 -620 -217.0 217.0|39 24 6v S-4 3 -200 -126.0 126.0
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34 « 10854 35 « KDKn63 36 a4
Ost v K654 Syd v 9832 Vast v EKn854
NS + E842 oV + K64 Alla 41098752
*2 &E *2
« EKn6 & KD97 410972 &8 10 4« KD7653
v3 v 9872 v6 v 10754 v K962 vD
+ D965 ¢ 1073 ¢ 9753 ¢ EDKn2 ¢ EK6 ¢ Kn4
#D10953 #E4 #KD98 410642 #108753 #KD64
@32 «E54 « EKNn982
v EDKn10 v EKDKn v 1073
¢ KKn +108 +D3
#KKn876 #Kn753 #EKn9
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
24 41 4v S= &9 620 209.0 -209.0 (27 38 6v N = &4 980 208.0 -208.0| 4 20 3NDO-2 2 500 181.0 -181.0
28 37 4v S= *9 620 209.0 -209.0 (33 32 6y S= &K 980 208.0 -208.0|23 1 24DO-2 +Q 500 181.0 -181.0
35 30 24D O-3 43 500 176.0 -176.0 (31 34 4v N+2 &4 480 66.0 -66.0|11 13 3NV -3 v4 300 104.0 -104.0
33 32 24DV-2 45 300 111.0 -111.0|40 25 4y S+2 &K 480 66.0 -66.0| 6 18 24DO-1 ¥3 200 58.0 -58.0
40 25 INRDO-1 #6 200 68.0 -68.0| 222 4v N+1 &4 450 56.0 -56.0| 8 16 5% O -2 ¢+Q 200 58.0 -58.0
21 3 2#4DS= +6 180 58.0 -580( 420 4v S+1 ¢2 450 56.0 -56.0|26 39 5# O -2 v3 200 58.0 -58.0
26 39 2v S+2 #3 170 57.0 -57.0| 519 4vS+1 T 450 56.0 -56.0(42 12 24DO-1 ¢Q 200 58.0 -58.0
222 2v0-3 &6 150 40.0 -40.0| 6 18 4v S+1 #K 450 56.0 -56.0|24 41 3y N= &K 140 26.0 -26.0
420 3y N= ¢2 140 40.0 -40.0(14 10 4y N+1 ¢A 450 56.0 -56.0(31 34 3¢ N+1 &K 130 21.0 -21.0
519 2v S= v3 110 20.0 -20.0|11 13 4v N= 8 420 420 -420| 222 3«V-1 ¢T 100 60 -6.0
6 18 2v S= A 110 20.0 -20.0|28 37 44 N= &4 420 420 -42.0|14 10 24 O-1 +Q 100 60 -6.0
11 13 3v N-1 v7 -100  -67.0 67.0(29 36 4v N= «8 420 420 -420(15 9 24 0-1 v2 100 6.0 -6.0
27 38 3v S-1 v3 -100 -67.0 67015 9 4vS-1 v2 -50 -129.0 129.0(17 7 24 O-1 v3 100 60 -6.0
3134 2¢ O+1 ¢ -110  -69.0 69.0|121 3 4v N-1 48 -50 -129.0 129.0(21 3 24 O-1 +Q 100 60 -6.0
8 16 4y N-2 «K -200 -115.0 115.0(35 30 6v S-1 +3 -50 -129.0 129.0|29 36 24 O-1 v3 100 60 -6.0
14 10 4v S-2 +5 -200 -115.0 115.0(42 12 6v N-1 *A -50 -129.0 129.0|35 30 14 O= v3 -80 -79.0 79.0
15 9 2v N-2 v9 -200 -115.0 115023 1 6v S-2 #K  -100 -146.0 146.0 (28 37 3v N-1 4K -100 -87.0 87.0
17 7 4y N-2 v3 -200 -115.0 115.0(24 41 6v S-2 5 -100 -146.0 146.0( 519 24 O= ¢+Q -110 -88.0 880
23 1 4v S-2 &9 -200 -115.0 115.0|26 39 6v S-2 +6 -100 -146.0 146.0|33 32 3# V= &2 -110 -88.0 88.0
29 36 4v S-2 *9 -200 -115.0 115.0| 8 16 A+/A+ 30.0 30.0|40 25 4« 0= v3 -130 -105.0 105.0
42 12 4y N-2 «K -200 -115.0 115.0(17 7 A+/A+ 30.0 30.0(27 38 4ANDS-5 &2 -1400 -334.0 334.0
37 « EDKn98 38 442 39 « D1095
Nord vE109 Ost vE73 Syd vD762
NS +1032 ov + K104 Alla ¢ KKn
«D2 #EKKn95 #Kn93
47542  #106 4KD6 4Knl08 474 & EKKn8
vKD852 vKn643 vK108 v DKn9642 vKn103 v K984
¢ K97 + E865 ¢ Kn87 492 ¢ E1097542 + 86
&9 #K106 #D872 #63 *4 *E107
« K3 « E9753 4632
v7 v5 vE5
¢ DKn4 ¢ ED653 +D3
#EKn87543 £104 #KD8652
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
521 3NN+3 46 690 176.0 -176.0| 6 20 64 S= +8 920 207.0 -207.0|125 1 3NDO-3 8 800 288.0 -288.0
30 37 44 N+2 v6 680 173.0 -173.0 (32 35 3NRDN= v2 800 163.0 -163.0 (12 14 3NDO-2 &K 500 235.0 -235.0
16 10 44 N+1 45 650 168.0 -168.0 |12 14 3NN+3 vQ 490 25.0 -25.0015 11 3NO-3 &5 300 193.0 -193.0
41 26 44 N+1 A 650 168.0 -168.0 |15 11 3NN+3 v2 490 25.0 -25.0|22 4 3NO-1 &K 100 130.0 -130.0
12 14 44 N= ¢+6 620 150.0 -150.0|18 8 3NN+3 ¢8 490 250 -25.0| 521 2#S-1 46 -100 63.0 -63.0
1511 3NN= ¢2 600 142.0 -142.0|41 26 3NN+3 vQ 490 25.0 -25.0|16 10 2¢ V+3 &9 -150 41.0 -41.0
18 8 3NN= ¢5 600 142.0 -142.0|42 13 3NN+2 vQ 460 60 -6.0(18 8 3¢ V+2 &3 -150 41.0 -41.0
34 33 5& S= ¢7 600 142.0 -1420( 521 44 N+1 ¢9 450 6.0 -6.0|24 2 3¢ V+2 &3 -150 41.0 -410
27 40 3#S+1 vK 130 -20.0 20016 10 3NN+1 vQ 430 -13.0 13.0(34 33 3¢ V+2 #3 -150 41.0 -41.0
29 38 3#N+1 v4 130 -20.0 200|122 4 3NN+1 v2 430 -13.0 13.0(36 31 3¢ O+2 #K -150 41.0 -41.0
3235 INS+1 v2 120 210 21.0| 719 5¢ S+1 7 420 -140 14.0| 7 19 34 S-2 ¢A  -200 17.0 -17.0
6 20 5 S-1 vK  -100 -112.0 112.0(24 2 5¢ S+1 ¢4 420 -140 140|29 38 3#S-2 a7 -200 170 -17.0
719 3NN-1 v4 -100 -112.0 112.0|27 40 44 S= v8 420 -140 140|30 37 3#S-2 46 -200 170 -17.0
9 17 3NN-1 v3 -100 -112.0 112.0 (28 39 44 S= v8 420 -140 14.0|28 39 5# S -3 +3 -300 -23.0 23.0
22 4 34 N-1 v2 -100 -112.0 112.0|30 37 5¢ S+1 v8 420 -140 140| 3 23 4NDN-2 «A -500 -95.0 95.0
24 2 3NN-1 v4 -100 -112.0 112.0| 3 23 3NN= vQ 400 -32.0 320| 6 20 44DS-2 ¢A 500 -95.0 95.0
25 1 5#S-1 vK -100 -112.0 112.0({25 1 3NN= vQ 400 -320 32.0| 9 17 5¢ O= vA  -600 -134.0 134.0
36 31 3NN-1 v4 -100 -112.0 112.0|29 38 3NN= vQ 400 -32.0 32.0|27 40 3NO= &K  -600 -134.0 134.0
42 13 3NN-1 *7 -100 -112.0 112.0|34 33 3NN= v6 400 -32.0 32.0(42 13 44DS-3 vJ -800 -193.0 193.0
3 23 44 N-2 +6 -200 -152.0 152.0 (36 31 3NN-= vQ 400 -320 32.0(32 35 3NDO+1 «2 -950 -227.0 227.0
28 39 44 N-2 v4 -200 -152.0 152.0| 9 17 44 S-2 vK  -100 -226.0 226.0 (41 26 3NDO+2 vA -1150 -264.0 264.0
40 « 10975 41 « E10982 42 « DKn98
Vast vD72 Nord v Kn9543 Ost vKD102
Ingen ¢ 102 ov + 87 Alla ¢ 942
#KKn95 #Kn «D10
4 K83 442 47653 & KDKn & K54 + 107632
vKn543 v K986 vE7 vD106 v 765 v 943
¢+ED8 974 ¢+ K9632 +EI10 ¢ Knl085 ¢ ED76
#E86 *D743 *K5 #ED974 *K75 *Kn
« EDKn6 a4 +E
vE10 v K82 v EKn8
¢ KKn653 ¢ DKn54 ¢+ K3
£102 #108632 #E986432
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 15 34 S= v4 140 45.0 -450|17 11 3NO-1 «8 100 2270 -227.0| 7 21 3NS+3 ¢J 690 84.0 -84.0
16 12 24 N+1 #3140 450 -45.0(33 36 3NO-1 «2 100 2270 -227.0| 6 22 3NN+2 42 660 66.0 -66.0
25 3 34 N= v8 140 45.0 -450|10 18 INO+3 +Q -180 158.0 -158.0|25 3 3NN+2 43 660 66.0 -66.0
28 41 34 N= v8 140 450 -450| 127 3NO= a4 -600 -19.0 19.0(33 36 3NN+2 42 660 66.0 -66.0
29 40 24 N+1 v8 140 450 -450( 6 22 3NO= a4 -600 -19.0 19.0(13 15 4v N+1 &J 650 66.0 -66.0
30 39 24 N+1 42 140 45.0 -450]| 721 3NO= v2 -600 -19.0 19.0|3534 4y N+1 v3 650 66.0 -66.0
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3336 24 S+1  vJ 140 45.0 -450| 8 20 3NO= a4 -600 -19.0 19.0|28 41 3NN+1 2 630 47.0 -47.0
37 32 24 S+1  v4 140 45.0 -45.0|13 15 3NO= *2 -600 -19.0 19.0|23 5 4y N= *J 620 47.0 -47.0
17 11 INN+1 #4 120 29.0 -29.0|25 3 3NO= *2 -600 -19.0 19.0( 1 27 3NS= +J 600 30.0 -30.0
8 20 24 N= 42 110 24.0 -24.0|35 34 3NO= &2 -600 -19.0 19.0| 4 24 3NN= ¢2 600 30.0 -30.0
10 18 2¢ S+1 #A 110 240 -24.0|42 14 3NO= v5 -600 -19.0 19.0| 8 20 3NS= ¢J 600 30.0 -30.0
127 3y V-2 «6 100 220 -220|19 9 3NO+1 +Q -630 -38.0 38.0|10 18 5% S= +J 600 30.0 -30.0
721 INDV-1 49 100 22,0 -22.0|23 5 3NV+1 &3 -630 -38.0 38019 9 3NS= ¢J 600 30.0 -30.0
23 5 INS= v4 90 10.0 -10.0|26 2 3NO+1 &2 -630 -38.0 38026 2 3NS= ¢J 600 30.0 -30.0
26 2 INV-1 T 50 -13.0 13.0(30 39 3NO+1 &2 -630 -38.0 38.0|29 40 3NS= +J 600 30.0 -30.0
3138 INV-1 aT 50 -13.0 1303138 3NO+1 &2 -630 -38.0 38.0|30 39 3NN-= «J 600 30.0 -30.0
19 9 44 N-1 v8 -50 -61.0 61.0|37 32 3NV+1 +38 -630 -38.0 38.0|3138 3NS= ¢J 600 30.0 -30.0
3534 INV= *2 90 -820 820|424 3NO+2 ¢Q -660 -580 58.0(16 12 3v N+1 &J 170 -154.0 154.0
424 2NS-2 ¢Q -100 -850 85.0(16 12 3NO+2 6 -660 -58.0 58.0|42 14 3#S+2 ¢J 150 -163.0 163.0
42 14 44 N-3 v8 -150 -109.0 109.0|28 41 3NO+2 43 -660 -58.0 58.0|37 32 6#S-1 *J -100 -220.0 220.0
6 22 INDV= &7 -180 -128.0 128.0 (29 40 3NO+2 &2 -660 -58.0 58.0(17 11 3NN-2 a2 -200 -241.0 2410
43 & KDKn2 44 # 10643 45 4652
Syd v 108654 Vast v EKn Nord v Kn8
Ingen + K54 NS 4863 Alla + E1085
*Kn #KKn98 #10875
#7654 4 E10983 «D9 & EKKn872 «ED87 4KKn103
v D7 v KKn93 vK632 vD54 vD65 v943
¢ Knl087 +¢9 ¢ Knl05 ¢ D94 ¢K42 ¢ DKn
#K83 «D95 #D432 7 #962  #KDKn3
@- a5 «94
vE2 v 10987 v EK1072
¢ ED632 ¢ EK72 ¢ 9763
#E107642 #E1065 &E4
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
24 6 5¢DS= &7 550 177.0 -177.0| 8 22 44DO-2 ¢A 300 177.0 -177.0| 7 23 44 O-2 vA 200 113.0 -113.0
31 40 44DO-3 #A 500 160.0 -160.0 (31 40 3« N+2 «A 150 111.0 -1110(26 4 44 V-2 vA 200 113.0 -113.0
921 3NN+1 v9 430 132.0 -132.0|42 15 3« N= «A 110 93.0 -93.0| 228 44 O-1 vA 100 64.0 -64.0
7 23 5¢ N= ¢J 400 123.0 -123.0|18 12 34 O-1 ¢A 50 65.0 -65.0| 8 22 34 O-1 vA 100 64.0 -64.0
20 10 5¢ S= 42 400 123.0 -123.0(29 1 34 O-1 ¢A 50 65.0 -65.0(24 6 34 O-1 vK 100 64.0 -64.0
36 35 5¢ S= 45 400 123.0 -123.0|27 3 2NN-1 a2 -100  -16.0 16.0|31 40 34 O-1 vA 100 64.0 -64.0
1119 34DO-2 #A 300 75.0 -75.0| 2 28 24 O = ¢A  -110 -17.0 17.0(34 37 34 O-1 vA 100 64.0 -64.0
38 33 34aDV-2 &2 300 75.0 -75.0|17 13 24 O= vA -110 -17.0 170 921 INV= vJ -90 -28.0 28.0
34 37 4¢ S= vQ 130 -1.0 10|24 6 24 O= ¢A  -110 -170 17.0(32 39 INV= vJ -90 -28.0 28.0
42 15 44 S= 46 130 -1.0 10| 525 24 O+1 ¢A -140 -370 37.0(20 10 2v N-1 ¢+Q -100 -39.0 39.0
17 13 24DO-1 «Q 100 -16.0 160 723 24 O+1 ¢A -140 -37.0 370|525 24 O= vA  -110 -41.0 410
228 3NN-1 49 -50 -850 85.0( 921 240+1 vQ -140 -37.0 3701119 24 V= vJ -110  -41.0 410
14 16 5¢ S-1 43 -50 -850 85.0(11 19 24 V+1 ¢A -140 -37.0 37.0(14 16 14 O+1 <vA -110 -41.0 410
18 12 3NN-1 49 -50 -85.0 85.0(14 16 24 O+1 A  -140 -37.0 37.0|17 13 24 O= vA -110 -41.0 410
29 1 3NN-1 9 -50 -850 85.0(20 10 24 O+1 ¢A -140 -37.0 37.0(18 12 24 O= vA -110 -41.0 410
30 41 3#S-1 vQ -50 -850 85.0(26 4 24 O+1 T -140 -37.0 370|127 3 24 O= vA -110 -41.0 410
32 39 3NS-1 vQ -50 -85.0 85.0(|30 41 14 O+2 vT -140 -37.0 370|129 1 140+1 <vA -110 -410 410
525 66DS-1 48 -100 -115.0 1150(32 39 24 O+1 T -140 -37.0 37.0|30 41 24 V= vJ -110  -41.0 410
8 22 3NS-2 a5 -100 -115.0 115.0(34 37 24 O+1 T -140 -37.0 37.0|36 35 24 O= vyA -110 -41.0 410
26 4 3NN-2 a2 -100 -115.0 115036 35 24 O+1 T -140 -37.0 37.0(38 33 24 O= vA -110 -41.0 410
27 3 5#S-2 *J -100 -115.0 1150|38 33 24 O+1 A  -140 -37.0 37.0(42 15 24 O= vyA -110 -41.0 410
46 «Kn73 47 « EK107 48 « ED43
Ost vES53 Syd vD9 Vast vE872
Ingen ¢ EK102 NS ¢ DKn854 ov +106
#1084 *Kn7 #D105
4E1052 «KD86 4932 4 DKn84 4 Kn9865 4 K72
vD106 v9874 vE32 v KKn vK4 v 1093
+D8 ¢ Kn53 ¢E103 ¢972 ¢ ED8 ¢ KKn7
#KD65 #Kn9 #K1054 #ED96 #Kn97 #EK83
494 465 10
v KKn2 v 1087654 v DKn65
¢ 9764 + K6 ¢ 95432
#E732 #832 #642
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
27 5 INS= v6 90 82.0 -820| 329 3NV-2 ¢4 100 87.0 -87.0| 329 3NV-1 v7 100 90.0 -90.0
923 INV-1 *2 50 61.0 -61.0|12 20 3NV -2 ¢4 100 87.0 -870( 8 24 3NV-1 v2 100 90.0 -90.0
1517 3v V-1 ¢A 50 61.0 -61.0|25 7 3NV-2 ¢4 100 87.0 -87.0| 923 44 V-1 «3 100 90.0 -90.0
19 13 34 V-1 ¢A 50 61.0 -61.0|30 2 3NV-2 ¢4 100 87.0 -87.0|12 20 44 V-1 ¢T 100 90.0 -90.0
28 4 34 V-1 ¢A 50 61.0 -61.0|32 41 3NV-2 ¢4 100 87.0 -87.0(15 17 3NV-1 v2 100 90.0 -90.0
8 24 3¢ N-1 *J -50 60 -6.0(3538 3NO-2 v7 100 87.0 -87.0|18 14 34 V-1 ¢T 100 90.0 -90.0
10 22 3¢ N-1 +3 -50 6.0 -6.0[19 13 1¢ N= «Q 70 73.0 -73.0(19 13 44 V-1 «3 100 90.0 -90.0
32 41 3¢ N-1 *2 -50 6.0 -6.0(28 4 3NO- +K 50 57.0 -57.0(27 5 3NO-1 vQ 100 90.0 -90.0
33 40 3¢ N-1 4K -50 60 -6.0(31 1 2NV-1 *4 50 57.0 -57.0|28 4 3NO-1 «T 100 90.0 -90.0
37 36 INS-1 a2 -50 6.0 -6.0(10 22 2v N-1 «Q -100 -140 14.0(30 2 4+ V-1 «3 100 90.0 -90.0
3538 1v O= 49 -80 -15.0 15.0(33 40 2vS-1 &5 -100  -14.0 14.0(39 34 44 V-1 ¢T 100 90.0 -90.0
18 14 1INV = ¢A 90 -160 16.0(18 14 3+ V= vQ -110 -180 18.0(32 41 INN-= vT 90 88.0 -88.0
39 34 INV= 2 90 -16.0 16.0|27 5 24 O= ¢K -110 -18.0 18.0(10 22 24 V= T  -110 60 -6.0
25 7 INS- a2 -100 -29.0 29.0(42 16 24 O +1 46 -110 -18.0 18.0(37 36 24 V+1 44 -140 -14.0 140
329 24 V= 43 -110 -31.0 310| 6 26 2NV= *4 -120  -29.0 29.0|42 16 34 V+1 &5 -170  -28.0 28.0
12 20 24 V= &4 -110 -31.0 31021 11 INV+1 ¢5 -120 -29.0 29.0| 6 26 3#DN-3 &2 -500 -152.0 152.0
30 2 24 0= 49 -110 -31.0 31037 36 INV+1l ¢Q -120 -29.0 29025 7 3NO= *2 -600 -173.0 173.0
31 1 1aV+1 &4 -110 -31.0 310|3934 INV+2 +Q -150 -40.0 40.0|21 11 44 V= ¢T -620 -179.0 179.0
6 26 34 V= ¢K  -140 -520 52.0( 8 24 2¢ N-2 2 -200 -65.0 65.0|31 1 4eV= ¢T  -620 -179.0 179.0
21 11 14 V+2 ¢A -140 -520 520 923 3vDS-2 v2 -500 -185.0 185.0 (33 40 44 O = *2 -620 -179.0 179.0
42 16 14 V+2 ¢A  -140 -520 52.0({15 17 24DN-3 +¢2 -800 -250.0 250.0|3538 3NO+1 2 -630 -180.0 180.0
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49 «ED 50 &« K7642 51 «E102
Nord vD9 Ost vD9 Syd v 854
Ingen ¢+ D842 NS ¢ 108542 ov + K1097
#D8764 &5 D75
4 Kn986 4107432 4 EDKNn3 4109 4Kn943 & KD76
v1065 vEB8432 v 85 vE1064 vKn1093 vD6
4763 + Kn ¢+ KKn96 ¢ E73 ¢ Kn2 4843
#K95 *32 +D84 #10962 #E86 #KKn109
& K5 485 85
vKKn7 v KKn732 v EK72
+ EK1095 +D ¢ ED65
#EKN10 #EKKN73 432
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
11 23 44DV-3 ¢4 500 162.0 -162.0|22 12 3yDS= &A 730 234.0 -234.0 (31 3 INN+1 &7 120 18.0 -18.0
38 37 3NN+3 v3 490 162.0 -162.0(28 6 2¢vDS= ¥8 670 219.0 -219.0 (16 18 2¢ S+1 vJ 110 18.0 -18.0
10 24 3NN+2 v6 460 155.0 -155.0|10 24 24D O-2 49 300 99.0 -99.0(42 17 2¢ S+1 v9 110 18.0 -18.0
26 8 ANN+1 &3 460 155.0 -155.0| 7 27 3v S= v8 140 27.0 -27.0| 4 30 INN= 2 90 -3.0 3.0
29 5 3NN+2 v4 460 155.0 -155.0|34 41 2v S+1 ¢9 140 270 -270| 7 27 INS= v] 90 -3.0 3.0
32 2 3NN+2 42 460 155.0 -155.0| 4 30 2v S= v8 110 90 -90| 925 INS= vJ] 90 -3.0 3.0
7 27 5# N= +J 400 127.0 -127.0| 9 25 2v S= v8 110 90 -9.0|10 24 INS= vJ] 90 -3.0 3.0
4 30 6NN-1 a2 -50 -73.0 73.0|13 21 2v S= sA 110 9.0 -9.0|11 23 INS= v] 90 -3.0 3.0
925 6NS-1 v5 50 -73.0 73.0|16 18 2v S= A 110 9.0 -9.0(13 21 INN= &K 90 -3.0 3.0
13 21 64 S-1 +6 50 -73.0 73026 8 2v S= v5 110 9.0 -9.0(19 15 INN= s K 90 -3.0 3.0
16 18 6NN -1 vA 50 -73.0 73.0|36 39 2v S= +9 110 9.0 -9.0(20 14 INN= a7 90 -3.0 3.0
20 14 6¢ N-1 vA -50 -73.0 73.0|20 14 3NDO-1 &A 100 9.0 -9.0(22 12 INN= & K 90 -3.0 3.0
22 12 6¢ S-1 48 50 -73.0 73.0|33 1 240-2 A 100 90 -90(|26 8 INS= vJ] 90 -3.0 3.0
28 6 6NN-1 a4 50 -73.0 73.0|42 17 3+ 0-2 +Q 100 90 -9.0(|28 6 INS= v] 90 -3.0 3.0
31 3 66 N-1 a7 50 -73.0 73.0|31 3 INO= 3 90 -87.0 87.0|29 5 INS= vJ] 90 -3.0 3.0
33 1 66 N-1 48 -50 -73.0 73.0|19 15 2¢v S-1 v5 -100 -87.0 87.0|32 2 INN= a7 90 -3.0 3.0
34 41 6¢ S-1 *5 -50 -73.0 73.0|32 2 24 N-1 &T -100 -87.0 87.0|33 1 INN= a2 90 -3.0 3.0
36 39 6NS-1 v5 50 -73.0 73.0|40 35 24 N-1 &T -100 -87.0 87.0|34 41 INN= 46 90 -3.0 3.0
40 35 6NS-1 v5 50 -73.0 73.0|29 5 INO+1 #A -120 -103.0 103.0|36 39 INN= a7 90 -3.0 3.0
42 17 64 S-1 v5 -50 -73.0 73.0|38 37 INO+1 #A -120 -103.0 103.0|38 37 INN= 46 90 -3.0 3.0
19 15 6N N-3 a2 -150 -122.0 122.0|11 23 2¢yDS-1 ¥8 -200 -133.0 133.0|40 35 INN= &T 90 -3.0 3.0
52 « K104 53 +E 54 « D765
Vast v EK1086 Nord v 107 Ost v KD95
Alla +10 NS ¢ EK532 ov + D54
#EKn96 #KD953 K10
D765 #E832 4 K1083 4 DKn62 4 Kn1083 442
v74 v DKn953 vKn62 vEK54 vE6 vKn72
¢ DKn84 ¢ 62 41076 ¢ Kn4 ¢ Knl06 ¢ E832
#1042  &K7 #EKN6 #1074 #Kn963 #E854
« Kn9 #9754 # EK9
v2 v D983 v 10843
¢ EK9753 + D98 ¢ K97
#D853 #82 &D72
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
33 3 3NN+2 #K 660 139.0 -139.0|10 26 2y O-3 +9 150 37.0 -37.0|39 38 3NS+1 &J 430 118.0 -118.0
4 32 3NS+1 +Q 630 125.0 -125.0| 4 32 3¢ N+1 «Q 130 19.0 -19.0| 4 32 4v S= 42 420 117.0 -117.0
8 28 3NS= 6 600 109.0 -109.0| 531 3¢ N+1 vA 130 19.0 -19.0| 8 28 4y N= 46 420 117.0 -117.0
17 19 3NN= 3 600 109.0 -109.0 |11 25 3¢ N+1 «Q 130 19.0 -19.0(10 26 4v S= +J 420 117.0 -117.0
20 16 3NS= 42 600 109.0 -109.0 |17 19 1¢ N+3 ¢J 130 19.0 -19.0|29 7 4v N= +J 420 117.0 -117.0
21 15 3NN= ¢+6 600 109.0 -109.0|20 16 3¢ S+1 ¢2 130 19.0 -19.0(14 22 3NS= «J 400 106.0 -106.0
29 7 3NS= 5 600 109.0 -109.0|27 9 44 N= +Q 130 19.0 -19.0(17 19 3NN= +J 400 106.0 -106.0
35 1 3NN= 43 600 109.0 -109.0(29 7 3¢ N+1 45 130 19.0 -19.0|37 40 3NN= ¢4 400 106.0 -106.0
37 40 3NS= 46 600 109.0 -109.0|33 3 3¢ N+1 vA 130 19.0 -19.0(21 15 3vy N+1 4 170 50 -5.0
41 36 3NS= 42 600 109.0 -109.0|35 1 3¢ N+1 «Q 130 19.0 -19.0(30 6 3v S= +J 140 -13.0 13.0
42 18 3NN = 48 600 109.0 -109.0 |37 40 3¢ N+1 +Q 130 19.0 -19.0|33 3 3v N= 42 140 -13.0 13.0
10 26 2 N+2 ¢9 130 -76.0 76.0(21 15 2¢ S+1 v2 110 10 -10|35 1 3vS= +J 140 -13.0 13.0
12 24 3« N+1 ¢6 130 -76.0 76.0(34 2 1&#N+2 &2 110 1.0 -1.0|20 16 2v¥ N= 4 110 -30.0 30.0
27 9 3¢ S+1 6 130 -76.0 76.0| 8 28 34 V-2 K 100 0.0 0.0| 531 4vy N-1 a4 -50 -105.0 105.0
14 22 3¢ S= 6 110 -86.0 86.0|12 24 34 O-2 ¢+A 100 0.0 0.0|11 25 4v S-1 s -50 -105.0 105.0
39 38 3 N= ¢+6 110 -86.0 86.0|14 22 3v O-2 +6 100 0.0 0.0|12 24 4y N-1 Ly -50 -105.0 105.0
531 54 N-1 v3 -100 -155.0 155.0|41 36 34 V-2 +A 100 0.0 0.0(23 13 4v S-1 ] -50 -105.0 105.0
23 13 3NN-1 vQ -100 -155.0 155.0|42 18 34 V-2 ¢+A 100 0.0 0.0|27 9 4v S-1 &) -50 -105.0 105.0
34 2 3NS-1 46 -100 -155.0 155.0|30 6 2NV-1 *2 50 -29.0 29.0(34 2 3NN-1 +3 -50 -105.0 105.0
11 25 3NDS-1 ¢Q -200 -190.0 190.0 |39 38 14 V= *A -80 -940 94.0(41 36 4vy N-1 *2 -50 -105.0 105.0
30 6 5NN-2 s A -200 -190.0 190.0|23 13 2NN-1 «Q -100 -106.0 106.0 |42 18 4vy N-1 Ly -50 -105.0 105.0
55 « DKn9 56 483 57 « KD93
Syd v 1064 Vast v6 Nord v 962
Alla ¢2 Ingen + K10982 ov + 964
#EDKn982 £K10982 #Kn106
4 K65 410 41096542 & EKKn7 4 EKN8 4642
vKn v K8752 v52 vKn874 vyDKn3 107
¢+ Kn9643 ¢ ED1087 ¢ Kn3 .- ¢ E1072 ¢ KDKn
#K1076 #43 *ED6 #Kn7543 «D82 #K9753
« E87432 «D #1075
vED93 v EKD1093 v EK854
+ K5 ¢+ ED7654 ¢ 853
&5 &- &E4
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
11 27 44 N+1 vJ 650 91.0 -91.0| 137 7¢ S= A 1440 244.0 -244.0 (13 25 3NV -2 K 200 93.0 -93.0
13 25 44 S+1 ¢3 650 91.0 -91.0|13 25 7¢ N= A 1440 244.0 -244.0 (21 17 24 O-2 vA 200 93.0 -93.0
4 34 44 S= ¢+2 620 73.0 -73.0| 6 32 64 S= 3 920 85.0 -85.0|36 2 3#0-2 vA 200 93.0 -93.0
6 32 44 S= vJ 620 73.0 -73.0(18 20 64 S= 46 920 85.0 -85.0|42 19 3NV-2 &K 200 93.0 -93.0
929 44 S= 3 620 73.0 -73.0(21 17 6¢ S= T 920 85.0 -85.0|40 39 2v S= 5 110 47.0 -47.0
12 26 44 S= vJ 620 73.0 -73.0(24 14 64 N= aA 920 85.0 -85.0| 434 3NV-1 v2 100 42.0 -42.0
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620 73.0 -73.0(28 10 64 S= 5 920 85.0 -85.0|18 20 3N V-1 v6 100 42.0 -42.0
620 73.0 -73.0|30 8 6¢ S= 3 920 85.0 -85.0(33 5 3NV-1 v2 100 42.0 -42.0
620 73.0 -73.0(36 2 6¢ N= aA 920 85.0 -85.0|35 3 3NV-1 v2 100 42.0 -42.0
620 73.0 -73.0|40 39 64 N= aA 920 85.0 -85.0|38 41 14 N= *K 80 36.0 -36.0
620 73.0 -73.0|42 19 6¢ S= a6 920 85.0 -850 929 2vS-1 vQ -50 -33.0 33.0
620 73.0 -73.0|11 27 5¢DS+1 46 650 -25.0 25.0(12 26 2v S-1 *2 -50 -33.0 33.0
620 73.0 -73.0(35 3 5vDS= 42 650 -25.0 25.0(15 23 2v N-1 2 -50 -33.0 33.0
620 73.0 -73.0|33 5 74aDV-3 v6 500 -76.0 76.0|28 10 2v S-1 v3 -50 -33.0 33.0
620 73.0 -73.0|31 7 5¢ S+2 3 440 -97.0 97.0| 6 32 INV= v2 -90 -54.0 54.0
-100 -173.0 173.0| 4 34 5¢ N+1 v2 420 -113.0 113.0| 1 37 34 0= vA -110 -65.0 65.0
-100 -173.0 173.0(12 26 5¢ S+1 T 420 -113.0 113.0(11 27 3+ O = vA -110 -65.0 65.0
-100 -173.0 173.0|38 41 64DV-2 v6 300 -150.0 150.0 |22 16 3# O = vA -110 -65.0 65.0
-200 -204.0 204.0| 9 29 4¢ S+2 «T 170 -188.0 188.0(24 14 34O = vA -110 -65.0 65.0
-200 -204.0 204.0 (22 16 54 O-1 vA 50 -215.0 215.0(31 7 3¢ V= v2 -110 -65.0 65.0
-200 -204.0 204.0|15 23 6vyDS-1 ¥2 -100 -251.0 251.0|30 8 INS-4 *2 -200 -112.0 112.0
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